
1.  5 − 8 

2.  − 4 + 7 

3.  10 − 12 

4.  − 6 − 10 

5.  − 3 + 15 

6.  13 − 20 

 

1.  7 − 9 − 3 

2.  5 − 9 + 1 

3.  − 22 + 13 − 17 

4.  − 18 + 14 − 3 

5.  9 − 8 − 6 

6.  − 21 − 2 − 9 

  

1.  − 5 + − 3 

2.  13 − −6 

3.  12 + −19 

4.  − 7 − − 9 

5.  15 + −32 

6.  − 20 − +12 

  

1. In Poland, at midnight, it was  

-12℃. 

At midday, the next day, the 

temperature increased by 5℃ 

What was the temperature at 

midday? 

 

 

7.  − 4 − 6 

8.  − 17 + 6 

9.  − 7 − 9 

10.  − 12 − 15 

11.  − 15 + 9 

12.  − 11 − 11 

 

 7.  − 12 + 4 − 2 

8.  − 5 + 7 − 10 + 3 

9.  13 − 12 + 2 − 11 

10.  12 − 18 − 10 + 4 

11.  − 3 − 5 − 6 − 8 

12.  − 20 + 13 − 25 

 

7.  − 14 + −27 

8.  − 21 − −15 

9.  13 + − 42 

10.  − 31 − −18 

11.  24 + −55 

12.  − 40 ± 124 

 

2. Molly has £45 in her bank account. 

She goes shopping and buys some 

trainers for £52.00. 

How much money does she now 

have in her bank account? 

Negative numbers (adding and subtracting) 


